#16 (3xH

o T”’ﬁcﬁ“”‘&’
¥2 32 = 31
w o 2534850
10 _ w1

GY,
%5

H o«

i
S

doas (2-axT) =

# 6 30 -

35

#( gt
253,49

26 H(35)

4000146

74 2,&’00(;/0 7><M) 2

364

I / :
Salulions

¥ AHXG T2 =25
g 20-6 - 4 - L
ic+g 216
o~ (%)
g #1015 - 23
4 X5 73
w6 7 o7 ®QI-1af
75& l ﬂsc/7yz&3 17
473
20

¢4 2408

76HH .58



aml - AW w0
P ' o - e i e =~
f -0 65x 3 367 O 6hx 7
| ‘ 364
303
k |
2y - 7 = ()85 75 C}U_4
LA AN, = 3 HG g5, = 085 H#IO 797 -
LAy ' s A > ~ B
0 6% =g #LT G # 101257, =
Z
2 0.075 7 75Y £ 2= ROF #0000k = OF7

B = S I
X

_ﬂ
\.)

ﬁ f é(,{,&futf' /%}qug)(g/wl/>
TQD}L A (/ﬂwL/SU/é’/NMT;zz )[/2 75)

:im 7,
#4
@MOWLL ol credit = (¢ stems ) § friein) ((Ji e st ) 4 i beins) (4 en)
| 270 &)~ (0l
:\]\/ YOG, 25 '



#0  Hem  Quebity Gty Uil Tl

| 70 10275 800
2 330 wid 3§ ?'ZZ?
3 4y $ . 7?” ffae»f.
1 240 4 166 $100.00
| ¢ 79100
= # Ubres
OL) ﬁl/flf%e #* ((trés ﬁ@/ /&/Vg/;a%/ %é .
N AT R
H

Gl Lotree /\er /WV&AM?

i

CUWA ot (”7)91/ /&2{7’{,‘%) (ﬁ/ﬂ (fws)
étébé # of étZLe/ié

L

b) A vtroge 0 0

56 (1) + gu( (0.5) + 70085 )+ g% (545)
) 5(+ 64+ 70+57
- 510 cenls per Lilres
<) @St 7er Km = Casﬁ per (e
- ' | K m //‘i?/// &flfas
5490 cenls per Lilres
%75 Km /ﬂfj,/ (itve S
= A [ﬁmfg /461f A/IM/
52
# A -
# ol om —3m—m = 3m #Ho 6/9% Q/Z NFJ%,.,Z - 3/0 ‘f‘/

)



HIO X+ 0.06x = 100X

A
#2  -7(8y )= -5Ca
rlo 5@x-4) =igx-20

820 (p-1a’-2n +1)
= &3~;ng .+%4&2+Qc¢—f
=a’ -3 +3e - |

#2( (HRab)T(7ab) = 6

1(2)

(3x*x~1) ~$(5—;z><~><2)

L[ /\k nm% &(,6‘5‘7;4&& -

¢ —(mCHm)= 24m "

B 1% (5m-n)m-3n )
= m? —Emn - dnm +6n
= bt 1 7mn Fén®
422 Ala-1)(@a-3)-306a-2)e+1)
= .2[2@ 2 34 P t3 ]
[ 33 - A
= 40"~ ia F( =9 T +C
=5 ~[3ec +12
w3 (ot -tatoza)s (4)
= +da + 3

Cfor x=-3

X



H10 o o -
We  bor N-82, €FE0, P 180, n= a8

P(VH"])
= 252)(w] - 2
B (25+1) 15"
#12 : | :
FV{(i-rt) by FV=1200, =077, €= %—%—53
= [200(1- 0. 75( |
= 1052.71
#’117" ‘ ‘k | > / >
-V for FU =752 120177 f:?;—fl
[+re | |
= 179 - 60008
[+ O w>
%07,
522
?F&ff( #r@’ﬁ)’*:é?i
6. 2%
#1o (27 13,38 #im’ = |
Bv | L 5 6 g
w2 (1)) = ()] w6 LC9] =60
:«Qgé ' = L/
w0 LV = pf EE B ")3: L
u( (1) 1) = L L=z 7 (g
= L

c -
| | Tz



- ';)\ . ‘ o
/ﬁ: g(&(F /Ol)l’f: a}ilbg #il (’4’0)”: v L )m
- [+

)0% ’é/[— - 7 3 Ty
4 4 3 2,2
In€ = - e =€

X X4
| (+e) "
§23
A*d | # i .
Ja05. 9225 = 1435 ¢ Yo Copisz S0
B#a w7 @
/' . ' ' /'Oa/é—_ = /rﬁl
ado | =7 |
= 10 o ‘
105" 05" - |
0.05 —1.e5 %
O.05
21659
%’p?ll/]
A
4 =287 /(273»2/6’7 /
# 9 ,05.:0,0(,00/ 29, 0.00001 = ~5



g4 Infsoo (1.107)]

C . mn
42 [mh=ao0 = 5, 00
=g + In 0"
= In 300+ 5ln 10
> 713 -
[55‘6 ”/)/
00/
g+ In 01T —ln o0
— g - 120 lal I = Ind01
210, 1¢
625
A
2 - g
7 -3 + G 'gf’x: 7
)\':ﬂé-'. X = -5
#./d’
~ax=7- %X
Xz /
B?F;l
~ A |
G -Hx = -71-x /6 x— 12 = 6x~32
[?' = gX /ﬁx :‘."QO
3 = X -2
iﬁ?v3+2x+§: Sy~ 34 4+ 14
24 - 3y
g =X



